6 H A& H27.6.14
EdE] IEfE STEF SPRE K£ 1 2 3 4 5 6 &t HE

10mS60M 1 1 24 XZE BKH 99.5 97.2 98.2 97.3 95.9 95.8 583.9
10mS60M 2 1 23%AB 1&E 93.1 919 876  88.1 914 953 547.4
10mS60M 3 1 BB B 978 924 919 877 922 802 542.2
10mS60M 4 1 218K FE 859 888 907 868 918 851 529.1
10mS40W 1 1 31 Bk A 985 1019 95.6 96.3 392.3
10mS40W 2 1 30#EA EXE 90.2 87.9 96.1 93.8 368.0
10mS40W 3 1 20 AEHEEHF 897 924 877 85.7 355.5
10mP6OMW 1 2 28i% 1§z 1019 1042 1047 1026 1051 1018 620.3
10mP6OMW 2 2 27{REE ®A 1023 1025 99.7 1032 989 10338 610.4
BP4OMW 1 1 FE Yy 90 76 86 87 339
50mPEOMW 1 1 4= 193 190 190 573 x=17
50mP6OMW 2 1 38ikE B 189 187 194 570 x=18
50mP6OMW 3 1 39 HZE {m— 192 188 189 569 x=14
50mP6OMW 4 1 28;BF B2 187 185 191 563 x=17
50mP6OMW 5 1 42 FE A 189 180 186 555 x=10
50mP6OMW 6 1 331FFE ZEEA 184 189 182 555 x=6
50mP6OMW 7 1 36 BN —if 188 183 178 549 x=10
50mPBOMW 8 1 37 E@EFIX 186 177 186 549 x=5
50mP6OMW 9 1 30 HE {Z= 188 186 171 545 x=10
50mP6OMW 10 1 27K B 176 183 180 539 x=7
50mP6OMW 11 1 32%&EH &7 168 170 169 507 x=3
50mP6OMW 12 1 3 EH B 159 151 160 470
50mP6OMW 1 20 fB EF 0 ons
50mP6OMW 1 34INE B 0 ons
50m3X20MW 1 2 3o EF 188 195 181 564 X=16
50m3X20MW 2 2 33UE=EKE 184 188 181 553 X=9
50m3X20MW_S 3 1 44 85K ER 185 195 147 527 Ra—7
50m3X20MW 4 2 RNHK FE 175 189 144 508 X=5
50m3X20MW 5 2 3 KA = 158 175 116 449 x=5



